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Are there any Homework Questions you would like to see on the board?

Last day's work:
pp. 202-203 #1-12,13-17,19-23

10113, I/
11,15

Today's Homework Practice includes: ( 5

Review qc 0(

p. 204 #1 -9
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13. The population of a Canadian city is modelled by
P(#) = 12#* + 8007 + 40 000, where 7 is the time

in years. When ¢ = 0, the year is 2007. _ =308

a) According to the model, what will the 'é g 2 020 0-20 _?
population be in 20202 . —é - {3

b) In what year is the population predicted to be

300 000z

3
= a/13) % 8eo(3 Yo 000
a) P(13)= a(13) o ) 31000 - raf -+ o)
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14. A rectangular field with an area of 8000 m? is enclosed
by 400 m of fencing. Determine the dimensions of
the field to the nearest tenth of a metre.
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16. Determine the values of # for which the function
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Lesson 3.7

18. Determine the equation of the parabola with roots

24+ V3 and2 — V3, and passing through the
point (2, 5).
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Lesson 3.7

18. Dete ¢ the equa fhp abola with ro
2+v’3 nd2 — \F nd passing thro ghh
point (2, 5).

calen)(ieS)
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Quadratics Review vue: OCE. D3NS

1. For each function below state the direction of the opening,
the vertex, axis of symmetry, max or min value,
and the domain and range. Finally, sketch the function.

a)  f(x)=-2(x-5)>-4 b) f(x)=2(x-3)(x+5)
Opm\s da“l/r\ M&KV&(M'Z‘V A.'d 2-6”53)(:'5,)(:-5—
%\;( 3,—«> Detxe RS Ags: x= ">
S XSS psiyeR/ys-43 =~
& F ()= 2= +9)

%y = (~4) )

L I A |
= L AL I R R L P D

y=-2(x-5) -4

D=ixemS
p= Ey@fk /y 2 '393

y=2(x-3)(x+5)
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2. a) The height, h(¢), in metres, of the tragectory of a football is
given by h(f)=2+28¢—4.9¢> , where t is the time in flight,
in seconds. Determine the maximum height of the football
and the time when that height is reached.

NE)= -4 “rasé +3
Y comld Camplete % Sjumz 2 fhd o yerctyy,

< qq(t3 23¢
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:-cm(é > AN
l‘/.?/f-;; 440+
=49 (-2 44

S mang, keight i He batl & yyn,

Q0 .
and occmny e (1. 5036 sec)
b) How long will it take for the ball to hit the ground?
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3. a) Determine the inverse of f(x)=-3(x—4)*+2

X = -3(9—4()343 Vily Q) a--
X—.):—}/;j—q)é‘ | )a 5
&< (G9)R

nyerel

-3z T 9

y:t\} 2% + 4 m%(’%;\{% Moeeop

b) Graph £(x) and ! (x)

c) Is the inverse a function?
Explain using words.

Ny . My teel opraph
(invene) fails +he ULT

d) State the domain and
range of f(x) andf‘l(x)
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4. Express each radical in simplest radical form.

a) \/98 b) —54/50 ) —212+4+/48
=Jgalx —.si25 8> =2 R44Je Sy
=t =-sQVWa =-3Q)z+ 43
=380 s-qSR+ 63
< R
5. Determine an expression in lowest terms for the perimeter
AND area of the rectangle.
1+3+/20
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=q+4PJ S — (¥
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6. a) The height, /() , of a projectile, in metres, can be modelled
by the equation  j(r) =14¢—5¢” , where tis the time in seconds
after the projectile 1s released. Can the projectile ever reach a

height of 9 m? Jo1 | ()=
A=t -5t
O=-5¢ ¥~ ¢+ 49

uSe  b-yac

= (“r)-4E)A)

= (A4 %0

=336 .
5 | 2 subehivm with
S0 Mw‘”f«cjm 1w

b) How long will it take for it to hit the ground?
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7. Determine the value(s) for £ for which the function has no roots.

f(x)=3x"-4x+k
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8. Determine the equation of parabola that has roots /5 and _\/§
and goes through point (-1, 6).

4=a (<55 i+ S>%>

_ /A
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9.Solve 3x? —4x+2=0

A= b:-t/ C:Q\

L N0 Red Soludimo [Bosls
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